: _

(6 pages) -
S.No. 1410 - 4. What is meant by demand forecas.tmg?

Caameu AL 1AlLaflem @LIM(BET wngl?.

(For the candidates admitted from 2017-2018 onwards) ‘
5.  Define Production function.
B.Com./B.Com. (Accounting & Finance)/ v
B.Com. (Banking & Insurance) DEGREE 2 pusd Qewerum®-euamum.
EXAMINATION, NOVEMBER 2018.
First Semester 6.  State the meaning of supply.
BUSINESS ECONOMICS Siefliiy eremgen AUTGET SOS-
Time : Three hours Maximum : 75 marks 7. What is average revenue?
PART A — (10 x2 = 20 marks) A )
Fymef eumeuTI GTENMHTE) GTEITET?
. -Answer ALL questions.
A 8. What do you understand by marginal cost?
1. Define Economics. ‘ ) oo . .
. LIYUILH SILS&LD GMsg HelT Sidleug) wrg?

Qumrpefludwe - eueyum. ‘
9. What is meant by monopoly?

2. State the nature of economics. 4
: wpomflew eretuger QurmeT wing?

Qurefluiwedler QuieGenar §ms.

3.  Explain the law of demand. 10. Define Price.

Caameu aflflullenar aflemd@s. edenew - cuanIy.

2 S.No. 1410
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11.

12.

(@)

(b)

(a)

(b

PART B — (5 x 5 = 26 marks)

Answer ALL questions:

What are the objectives of business

economics?

auexfls Gun@aﬂuﬁ\maﬂdf (Sg_r;rrésré:ssdT wrened?

Or-
Discuss the nature and scope of business
economics. ’
auanfls Qurmefludwiedler Quéndenanb,
upli9epan efleurd).

What are the exceptions to law of demand?

Capaau eilflsamar eles@sdr wremea?

Or
Explain the various types of elasticity of

demand. .
Gooau Qpflpsdluder  voCoupy euamssmar
AleargEs.

3 S.No. 1410

13.

14.

15.

(@

(b)

(@)

(b)

(@)

Write a note on short-run and long-run
production function. J
GnéAu stob wHmpbd Sl sreb 2 HusH
Qaweur® GMsg e (WPaIs.

 Or

What do you understand by economics and
diseconomies of scale? '

QurmerTsTy ety WHMHID QUTHETTSTY LHD
Slare) Gl el sifleug wrg?
Describe the various kinds of cost.

SiLsasHan LoCGeun euamss@mear efleuré).

Or

What is break-even analysis? Explain its
assumptions and uses.

gflg  LGLUUMLG eTeTDTE oTear? aésh
SI@)DTREISE@ETLYD DHMID LIWLIGTLITL Iq GHETL{LD
Aers@s.

What is perfect competition? Explain its
features.

Heopays Cuirly GTeaPID GTAT@T?  DiFET
ApuQueysamer elaTéEs.

Or

4 S.No. 1410
[P.T.O]
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16.

17.

18.

19.

(b) Define Inflation. State the effect of inflation.
U eSEs - auepup. U  eSéasHien

urdodenen &(5s.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Briefly explain role and responsibilities of a

business economist.

aefls Qurmerngmy Huyeflen QurgiiLser WLHHID

- Qewedun@semar edfeuns alars@s.

What are the determinants of demand?

Gaeaeuanw Sioneflé@o smyaflser wrameu?

What is elasticity of supply? Explain its types.
Seflluy Oplpss erempred eramen? DG UGS
ensEs.

State and explain cost-output relationship.
epusd whgd SILsEFAIGED @GoLGuarer
Qgmm9enan s cileTéG6. ‘

5 S.No. 1410

20.

Explain the procedure of determining pricing
under monopoly.

~ popflewula eenew Hlfreid Q&b
oL papuiamer cllaTéEs.
6 S.No. 1410
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16.

18.

19.

20.

U@ @ — (3 x 10 = 30 wHLQUaTEET)

SlemeumLbd el @méa(ehar apemmaudE wi (b eflanL_we).

GYEDISEHD FTOOLUTHSTULD e sl
Sfleuns ergs.

Qum peraseie efusgssmas seiliss eurser
@Lgser aswrer Geuatmqul B pepset GDlss)
T(PSIS.

UNsaT QL Ig&eT paal_smg CsrarCLryml Sjemww
Ceuamriquigy erem?

werasTasded eunsar @iy Geuaur Couar(Heug
T RIGTLD ?

“Ceusid ebllCausenyy’’ eTamugener efleul.

4 S.No. 1338

S.No. 1338

Time ;: Three hours

17UTANO01/17UTLNO1

(For the candidates admitted from 2017-2018 onwards)

U.G. DEGREE EXAMINATION, NOVEMBER 2018.

Third Semester
grenev LN &TUIL eblglser
Maximum : 75 marks
LGS < — (10 x 2 = 20 wHLAUENEET)
SDmasg elamssEnsEw edlenLwefl.

poLutms Qoarg @ hsafld sraaulsds Csdeug
GT TR EIGSTLD ?

Bfeuarmg @LUHueat suagde Qsmerar Geusmriguw
BOL (P& @her @ rarriganard &L (Hs.

cunsan gL igser Augeurss dewe Ceuawngus @)L miser
eTeneu?

CunE@eurdgd SLMSET GTETDTE 6TEIan ?

@relles  eadsag arsagHowar  ppHIUS

6T MBI GuTLD ?
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10.

11.

grepuller ean@FagIbd cunsaEmS @LLILDLTE (PhHS
Ceuamrig ui GO &ET WTeneu?

UMTSASMSE el (Pl uUTHST @@Ll SHeuanssle)
Qsmerer Ceuamrig Lieneu wWTeneU?

- @aleussfémas

b4

GDEET 2 @THFILD HHEUSET WITEHEU?

stewolar  @MmuDuL arsasms  HmSswmd

aTTLSMET 2 emiSgWD G BIeMLOGS) 6ThImETD?

arsaismns Hnssasuie Guplsterar  Ceusrigw
LITGISTUL| PEnDEEHET Qreriy e &i(Hs.

uGd <=, — (6 x 5 = 25 wHLGuaTEE)

mandg NanssErs@ELD ellen, weafl

(@) ungsmiser Gerupn Couamgw sTeme LTHGTILY
S faer wineneu?

(ievevgy)
() ungsrAadr @GRH@Fs®ET 2L  JDPISHIF
QAzargib (pen GHES TS

2 S.No. 1338

12.

13.

14.

15.

(=)

(<)

(=)

(<)

(=)

(<)

(=)

(<)

B aeang @LBuat @reld ossdsrerer
Geuetig W FENL_APENDEET WITEneu?

(S1vg)

waoluTesld aursand @l BHuel suasdo

‘@ méE Gouaigw pardarssflsamssdr erancu?

stoes epdlde rsasss HHUlE

GTRIMIGTLD ?

(veg))

aunsen @LUigsar QFTLI eualngll LTSSMmeTs

HLULG TRIERETD?

unsamiismer fiMSsd sal G Q)L MsET wnenau?

(D0veg)
ursEahIEmaTs Fupns BHossord  goHuLL

ellenereyger @GNSASWEIS.

Sgrodyps  stenesailer  arsand @l (Hueur
seuansfe Qamerar CouaT(Heuar wireneu?

(Siveg))
wrsen  @Lig  @dlluuremerl  uwetu(hss
CouarL g @,Lp&6T Wreneu?
3 S.No. 1338
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15.

16.

17.

18.

19.

20.

(a) State the ways and means of termination of
agency.
wpa@waw B&@n auflpanamer SHs.
Or
(b) What are the rights of unpaid seller?

degugsiiuLng  elpueenurarfien o Mawsar
wneneu?

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Briefly explain the elements of a valid contract.
QsoegE quuUBsSSHaT WsHW smmsmer olfleuns
clenéEs.

Explain the modes of discharging contract.
@uUUBBSMS AFLOURSSHIL aufigpapamen aleTsEs.
Discuss the rights and duties of Pawner and
Pawnee.

SLwrad Qumpr wimd Qeuuefler o Aenwser
WwHMID SL_enwsamer alleuns).

Describe the ways of creating agency.

PEDWLEW 2 (HeuT&EGLD auippannsamer aleurd).

State and explain the provisions of Sale Goods Act
regarding transfer of title.

e fleow wrdPL GNsE &76@ edbumer s o
GNUI_B 2 emar sr5816a6men ellaTéd) snms.

4 S.No. 1417

S.No. 1417

Time : Three hours

, -17UCMO05/17UCC04/
- 17UCF05/17UCBO05

(For the candidates admitted from 2017-2018 onwards)

B.Com./B.Com. (CA)/B.Com. (Accounting and Finance)/

B.Com. (Banking and Insurance) DEGREE
EXAMINATION, NOVEMBER 2018.

Third Semester
BUSINESS LAW
Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

State any two objectives of commercial law.
auamfls 5L gdler gCogyb Qran(® Coréshiser $mes.
Define Contract.

@UUBSLD — cueTwIm).

What is contingent contract?

sMmeDGAL @UUBSLD erammmed eramen?

What is meant by agreement?

2 L @ILIG &S CTETDTE) GTeen?
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10.

11.

Define Guarantee.

2 4Ineuns L — uenfwy.

State the meaning of hypothecation.

UMM NEUSSE) GTEIMITE) CT 6 ?

Who is principal?

(PHLGUT GTETLIGUIT WIMT?

Define Agent.

(P&EUT — GUEDTUIMY.

What is meant by sale?

e HLIGHET GTEMTE) GTEman?

What do you understand by auction sale?

g clpueamer GNSE BeST Sideugy wimg?
PART B — (6 x 5 = 25 marks)

Answer ALL questions.

(a) State and explain the nature of contract.
PUUBSSS 6 @uicvGenar cllesd) Fomis.

Or

(b) Mention the formalities

involved for
formation of contract.

RPUUBSLD 2 (HeuUTEEGIET BaL_(PENDEENET &(HS.

2 S.No. 1417

e TR T

12.

13.

14.

(a)

(b)

(@)

(b)

(a)

(b)

What are the various tvpes of contingent
contract?

Q@EB@EE @DEHEM%«.& ueGeugy eumaser
wreneu?

Or
Explain the features of quasi contract.

Gudey @UuUBSSHE HpLsucsmen 6ilaTsEs.

Discuss the rights of indemnity holder.

rl_Hnd eeusdalueaflar 2 Aewsamer el

Or
What are the rights and duties of bailer?

uueLey GQumueiflen o fenwser

SL_eMW&ET WITenau?

LD LD

Explain the various kinds of agent.

waeufler uwGaum cuamssamaer elleTéda@s.

Or
Describe the rights and duties of principal.

aoeuflear o fevwser wHmd SL_ewwsear LDHDH
efleurs).

3 S.No. 1417

o

- L/

[ — -
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18.  @nisamw afgd aufl 2 wded pLps AHsumEmETE
SL(hen&s.

S.No. 1575 17UFTA02

19. sweular ‘arsenn - e Snsas 2 ETTSHD
=md . . - "

SDBEN FOEEZDS TSI (For the candidates admitted from 2017-2018 onwards)

20. smewew &pemwoiy  Geuewrg  earym 8§ .@8@9@%@
el eremriLID 6T(LpF).

B.A./B.Sc./B.Com./B.B.A./B.C.A. DEGREE
EXAMINATION, APRIL/MAY 2018.

Second Semester

Foundation Tamil

Ber : 2 — @l ssre QasdlukisEsn, Hnsmgub

Time : Three hours g Maximum : 75 marks
U@ o — (10 x 2 = 20 wHLQUETSET)

1Gevreu (LD %@:w&@um@ @fm euflgafier aflan gma.
1. ‘auramdl wanemdl cusflwnd) gaflunrd’ - @Lib &1 [Hs.
2. ‘gramjilime gasdanm eligime’ - @L D & Hs.
3. BMODE S wavs HHUTT - @b s (8.
4. pEfloatae Csrs Carag pr() i @L b &{Hs.

5. Weterg euafluy  eramp  Apsesudé  eumbd
seTuUNggraseten Quuismarn UL g wedHs.
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16.

17.

18.

19.

20.

| ~— g A e

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
Discuss the scope of environmental studies.
SHMIFGped UigLiblen eumiiiLy euflaemar efleund)éas.

What 1s an ecosystem? Explain the structure and
function of a forest ecosystem.

GWPsH Gsnguy aeammd earen? @@ &1L (H§F NS
QsmEuler samwiy wHmib Ceuameaaeana ehléns @s.
Write an essay on inter-state conflicts over water.
@@ wrflomseErsdaLCu Hloab B Wrfsmansgdr
G058 @ &L_(HenT eT(LPGIS.

Explain the conservation of biodiversity.

> fler  UdME@mW@WL  UTHETESD  GOE8)

alend,@s.

Write an essay on disaster management.

Gufli Cuenamenn @GNS @ GL(HenT eT(LpF)s.

4 S.No. 2651

S.No. 2651

Time : Three hours

17UESO01

(For the candidates admitted from 2017-2018 onwards)

ALL U.G. DEGREE EXAMINATION, APRIL/MAY 2018.

Second Semester

ENVIRONMENTAL STUDIES

Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Environment — Define.
FHMEGSPO — cuanTwenp Qawis.
Components of environment.
(D M) (G LpEdl 6t SaMiGET.
Ecological succession.
G cuflpenm euerT&sl.
Food web.
D_GRTEL GUENED.
Land degradation.
Hogdlen 5iCs ().
Renewable Energy Resources.

LI GE5EE5 SHHDD CUaTRISET.
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v

ol

10.

11.

12.

13.

Poaching of wild life.
et dlamgasaar CQaraase.
Habitat loss.
2 il b NP0,
Ozone layer depletion.
RCavTaT UL b oiL_T6] GMDSD.
Silent valley. | 14.
DWW LIETATESTE(S;. ,

SECTION B — (5 x 5 = 25 marks) |

Answer ALL questions.

(@) Narrate the concept of sustainable

development.

b ss Howss HbEb euerrés Camumigeamen

T(H&ZDTES.

Or

(b) What are the importance of environmental 15.

studies?

&DMIFG PO Ho6llulen paduge euld wireneu?
(a) Write notes on Desert Eco System.
urena Blews Gws Csrely upd @iy
KCETS
Or
(b)  Explain Pond Ecosystem.
&1 GBS CenElibenan 6l oréss.

2 S.No. 2651

(a)

(b)

(a)

(b)

(a)

(b)

What are the impacts of deforestation?
sr(seer SPLUSTL  gHUOL  fmarajsar
wimeneu?

Or
Comment on desertification.
LITEEAUATOTSELI LD D] SHSEINT&E.
Write an account on endangered species of
India.
@pdureder <oifibg aumb Gamhsd Gilse)
CBTESS 6T (D8G5

Or
List out the biogeographic zones of India.

@pdureler oulfl  yelufwe
uliquwiedl(hs.

U@SsearL

Write notes on the role of environment in
human health.

wallg saTEMESD @ waedlen L@ ubd GHLIyeT
TSI,
Or

Give an account on Environment Protection
and Wild Life Protection Act.

GO LMgIETUL LHMID euen efemi@E LITEISTLILEF
FLLD upil AsmELLenT SHs.

3 S.No. 2651
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(8 pages)
S.No. 1687

17UFEN02

(For the candidates admitted from 2017-2018 onwards)

B.A./B.Sc./B.Com./B.B.A./B.C.A. DEGREE
EXAMINATION, APRIL/MAY 2018.

Second Semester

Paper II — ENGLISH

Time : Three hours Maximum : 75 Emu_nu..
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. Choose the correct synonym : 4x ¥ = Nv
(a) Probable — believable, possible, proverb,
often . :
(b) Roams — stays, sits, wanders, runs

(c) Nightmares — dreadful dreams, sweet dreams,

insomnia .
(d) Prospect — chance, possibility, promis
hope
Choose the correct antonym : 4x Yy
(a) Forget — recollect, get, return
(b) Refuse — accept, deny, decline
() Similar - same, different, like

(d) Separate — disjoint, joint, pull

Unscramble the following words : @x Y% =2
(a) LBGOAL

(b) GEENOTAIT

(o0 MUCH

(d) NTLEVSONI

Fill in the blanks using the words given below :
4x ) =2)

the growing up -
as he makes

Swami
of a boy who despises
and roams around.

(school, portrays, pangs, excuses)

Answer the following multiple choice questions :

4x Y =2)
(@) Todd says that would never
pay her debts.
(i) Germany (i1) Poland
(1) France (v) Italy

(by When Swami sleeps in his father’s office he

-

(1)  1is disturbed by the rat

(i) has nightmares
(iii) is disturbed by the cat
(iv) is called by his mother
2 S.No. 1687
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(c)

(d)

State whether the following statements are True

People become addicted

Television programmes and

to watching

(1) it is good for them to acquire knowledge

@) it is the worst thing about television

programmes

(i) it is the best way of passing their time

(iv) it is good for their life
‘Global Warming’ wm written by
(1) Stephen Leacock

(11) Jerome K. Jerome

(111)) Daniel D. Chiras

(iv) R.K. Narayan

4x Y =2)

or False :

(a) Todd owes a dollar.

(b) Swami lives in Lalgudi.

(c) Swami shares his adventures with his old
granny.

(d) Todd went to Bermuda.

3

A e

10.

Pick the odd one out from the following list
4, Y =2

(a) Railway station / ticket counter / porter |
film show

(b) Books/pen/pencil/bench

(¢) Car/bus/bicycle / aeroplane

(d) Cheerful / happy / gay / sorrow

Give the meaning of following confusables :

2x1=2)
(@ () Raise
(i1)) Rise
() (@) Show
1) Seo
Answer the following Riddles : 2x1=2)

(@) I am a building with number of stories.

(b) What is the word that is spelled incorrectly
in all dictionaries?

Answer the following Mind Benders: (2x1=2)

(@) Define Pangrams.

() Define Palindrome.

4 S.No. 1687
[P.T.O]
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11.

12.

SECTION B — (5 x 5 = 25 marks)
Answer the following questions.

Complete the story with the correct forms of the

verbs given in brackets : (5)
Cinderalla (wish) to attend the
ball. The Godmother (help) her.
She (going) as the beautiful princess
and the prince (allure) by her.

(a) Identify the appropriate article from the

given options : (3 x 1= 3)
(1) Chennaiis big city.
(1) the (2) an
@3) a (4) no article
(11) students are very sincere.
(1) noarticle (2) -a
(3) an (4) the
(iii) apple eferyday keep the
doctor away.
(1) a (2) the
(3) an xhc no article
5 M S.No. 1687

13.

(b) Identify the appropriate passive forms from
the options given : 2x1=2)
(i) The thief has stolen my watch.

(1) My watch has been stolen by the

thief.

(2) My watch is being stolen by the
thief.

(3) My watch will be stolen by the
thief.

(i) He writes a letter.
(1) A letter was written by him.
(2) A letter is written by him.
. (3) A letter has been written by him.

Read the following text and make notes : (1 x 5=15)

We use fossil fuels like coal, diesel and petrol in
plenty leading to excess concentration of carbon
dioxide in the atmosphere. Trees absorb this
carbon dioxide for preparation of food through
photosynthesis. This way, trees balance the
amount of carbon dioxide in the atmosphere. But
man’'s greed for wealth has led to the destruction
of forests decrease in trees has led to increase in
carbon dioxide. Increasing concentration of carbon
dioxide traps sun’s heat hence global warming.

6 S.No. 1687
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This marginal increase in temperature is called
‘Global warming’. Global warming will result in
melting ice caps in the poles and changing of rain
patterns which will affect agriculture. Answer to
this problem is trees. Let us conserve the existing
trees and plant more trees. We should create more
Amazon like forests for a comfortable life on earth.

14. Prepare a resume suitable to the post given below :
. (1x5=5)

Bajaj Capital Finance Company
143 — Vadapalani — Chennai — 603 103
' bajaja @ gmail.com
Wanted
Marketing Manager
Qualification : UG (B.Com., B.C.S)
: 2year

. An exciting package for
potential candidates

Experience

Salary

Interested candidate should sent you resume

Give directions to an old lady to reach the
railway station : (1x5=5)

Or

(b) Draft a script for welcoming the Chief guest
on Sports Day. .

7 S.No. 1687

15. (a)

16.

17.

18.

SECTION C — (3 x 10 = 30 marks)

Answer the following in about 200 words.

(a)

(b)

(a)

(b)

(@)

(b)

What are the efforts made by Leacock to
remind his friend about a dollar which he
had borrowed?

Or
What is the heroic deed accomplished by
Swami?

How is a person benefited by showing mercy?

Or

Discuss Wordsworth as a Poet of Nature
with special reference to the poem
“The Daffodils”.

Lata Mangeshkar’s interest in music.

Or

“Failures are stepping stones to success” —
How is it true in the life of Mariyappan.

8 S.No. 1687
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@Cs prefled sal L memany S@O&SILOEDS. eTeN
Qenggisa@End a5 50,000 &g eNpsuuLLEl.
sLabCsTméE ep. 11,500 Qar@ésiulLg). smeaLll
Qswey @ 1,000 oyEd.  siLmaflsar  Geamu
BLLismer wenpGu 3:2:1 erengyid cldlgsdle LdTHa
AsreprLeani. saws@Gsmar igliugnstar GHLGCUE
womib CuCrPamears s(Hsa.

20 S.No. 1642

S.No. 1642 17UCMO03/17U0CC03/
17UCBO03/17UAF03

(For the candidates admitted from 20 Hquon onwards)
B.Com. DEGREE EXAMINATION, APRIL/MAY 2018.
Second Semester
FINANCIAL ACCOUNTING

(Common for B.Com. (CA), B.Com.(A & F), B.Com.
B &1I))

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1. State any two objects of w.mmwmbm branch accounts.
feners samsams eeusslmlglen Crrssmsdr gCseaylb
Qe sams.

2. What do you mean by Goods in Transit?

aulflllenL_& s7é LD Heit iMoug eremen?

3.  What are Departmental accounts?

sienpeuril &ewTs G aEeT eTaTuaT Wneneu?
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Mixed goods were purchased for Rs. 1,00,000 ang
later they were assorted into three categories X, Y,
7, as follows: X: 1000 units, selling price Rs.20
each; Y: 2000 units, selling price Rs.22.50 ach; Z:
2400 units, selling price Rs.25 each. All categories
yield the same rate of profit calculate the rate of
profit on sales.

HLEN6L

1,00,000  &@

aunmsliulLg). erent Seneu X,Y wpmibd Z eren ELPEIT)

QummeTseTTengl €.

aumssatts Wemeumonm  AfssiulLg. X: 1000
Siogser lpuemear alenad 5. 20 aigd Y: 2000
Siw@se, allpueamar el @p. 22.50 aisb, Z : 2400
dAngser, clpumer el . 25 aigd ereen
awmssEnd @Gy wrdflurer @aru eiggms Qsmeam(
edrarg) arens  Gamam(®d eldueen Bgrer @G

IBEm5E HTaRTs.

What is meant by Single Entry System?
ehop ufley e LHB Sifleus) ereran?
Calculate stock at the end:

Op. Stock Rs. 10,000; Cash Sales Rs.30,000; Credit

Sales Rs.20,000; Purchases Rs.35,000; Rate of
gross profit on cost: 1/3.

2 S.No. 1642

P A i A A .
o St e 5T e

10.

Capital of Partners:

Qmd Frsdlmliemu HITEHTS.

Qsmés srsfmuy  ep. 10,000 Gorés  eflpueamar
em. 30,000; &Len edpueer ep. 20,000. ; Qanerpgd
5. 35,000; L sselleaauden g Gorgs Gamuw 6isw
1/3.

Define mmiﬁmumgv

Fal’ L TGRTEDLOGHIL] UMTWMIES.

L

X and Y shared profit in the ratio of 7:3. Z’ was
admitted as a partner. X surrender 1/7 of his
share and Y 1/3 rd of his share in favour of Z.
Calculate new profit sharing ratio.

X, Y aranp snlLmaflaar wpenpCu 7:3 ergyid clllgsgdle
omub udibg Qerdrdament. seuiser Z arerLeuT
&gl Lnamenentioufley Carsg Camerdemmert. Lgw
gl Lrafll eramueumests X-1/7 urig Y-1/3 umigh
UUML ST, SeuTserg LiFw eoru ez wrg?

Who is an insolvent?

 @mBmig Ly &%@Eq GTEYTLIGUIT WIMT?

From the following distribute cash wunder

proportionate capital method:

Amir Rs.20,000; Balan

Rs,10,000; Profit sharing ratio: 3:2.
I*t Instalment (Cash) Rs.5,000;

- II»d Instalment (Cash) Rs. 4,000

HHHa Instalment (Cash) Rs. 2,000
3 _ S.No. 1642
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1l

Seraump  Surkisdfidass Ségabery
e S dynasgeg FRQND ulieumiy?

i L nafisa o bt @ 20,000: usaer . 10,0(
Bery S8pp 12 ppd paman (Qorasinna
m 5000 @oarind gauemen (Ggnaswas) @ 4,00

ppanpnit pauman (Qgréswns) @ 2.000.
PART B — (5 » 5 = 25 marks)
Answer ALL questions.

(a) Loval Shoe Company opened a branch
Chennai on 1.1.2012. Prepare branch

account for the year 2012.

Rs.
Goods sent to branch 15,000
Cash (expenses) 6,000
Cash received from the branch 24,000
Stock on 31.12.2012 2,300
Petty cash on 31.12.2012 40

4 S.No. 1642

2012 garaufl pped CaPudp wmud @ sawdy e
Qearwenia @ deoamawu fopsgm 2012-0

e egiu deoms savsoms guni dews

.

deoaég Sguiu 6740 15,000

(Qswaysdr) Qunéad 6,000

Aoa@d @iz Qupp Qrésd 24,000

31.12.2012d spé@ 2,300

31.12.2012 & Adwmp Agrésid 40
Or

(b) Chennai Ltd. invoiced goods to its Madurai
branch at cost plus 25%. Find out the profit
from the following information:

Goods sent to branch at invoice price
Rs. 50,000; cash sent to branch for expenses
Rs. 8,000; cash sales Rs.22,000; Credit sales
Rs. 23,000; cash received from debtors
Rs. 20,000; Bad debts written off Rs.600,
stock on 31%December (invoice price)
Rs. 4,800.

5 S.No. 1642

Scanned by CamScanner



(a)

Qedneven HpoD SILEE5EAT Bg 25% @eomun
@apg wgmylld o aren S mm.msgz.m@
syédanen SgUwg. WSl areu b
eQeuprisafled(HHS Qorugms SIS ([Hs.
@Lmiy efleeude Hoasg D@L &75g
e5. 50,000; GeeysEnssns fearé@ gy
Qpréswd . 8,000; Gynés alpuenar ap. 22,000
sLan eflpuenan @. 23, 000; sLamaflsafl_ @b
Qupp Qrrésw . 20,000; GurElsps Ll L
amraLer @5 600. igebUm 31 emennw
srsdmuy (QLmiy elleve) em. 4,800.

Raman departmental stores has two
departments A and B. From the following,
prepare departmental trading accounts.

Purchases :

Departments A— 1000 units Total cost of
Department B — 2000 units [ Rs. 1,10,000
Opening stock :

Departments A - 400 units

Departments B — 600 units

Sales :

Departments A 900 units @ Rs.75 per unit
Departments B 2100 units @ Rs.45 per unit

Assume the G.P. rate is uniform for both the
departments.

6 _ S.No. 1642

gTeT gemmeurfl umTLE snaveuded @ e
genpger  odmerer.  (weopGw A wpmow B
Gemeumeuaialhenm Qamewr () glemeun
eSlwmunys seawrd@ swniléseyw.

QameTpgev

Qursg efeve

em A 1000 @ a6t
P 2 em. 1,10,000

gienm B 2000 i@ ser

PRI

sion A 400 e@aer

gienp B 600 siev@ser

eNpuenes

gom A 900 Siv@seT @ m. 75 Qb VG
geop B 2100 siw@sda @ m. 45 @m s

Qg emub aisb Jmasg gapseis Fow
aané Garaw(® geopeurfl eNwmunys sewad
Lt QFws.

Or
7 S.No. 1642
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b Rt e s Sepupet s SEEEEEE

(b) A comp

department supplies

department at its usual selling p

any has two departments

A and B. ‘A’
the goods to ‘B

rice. Front

the following figures, prepare Departmental

Trading Account for the year 2015.
Dept. A (Rs) Dept. B (Rs)

Stock on 01.01.2015 30,000
Purchases 2,10,000
Transfer to department B 50,000
Sales 2,00,000
Stock on 31.12.2015 40,000

50,000
60,000
10,000

on Spoorag A wipd B a@md @6
gloopsmear Qaram@erag. A gepwraig) B
glonsE saig elpumen ellamauier e

QUGS TSI
geaumsaladlmbg 2015 <o

Qum(peTgenar

“emeu(md
<}, 6T g 60

giepaafiien eNuTUNT SeréEams §WMi&s.

sleop A (¢m.)
01.01.2015 sianenpw sy&Hmuiy 30,000
Qarerapsed 2,10,000
B gienpé s omplug 50,000
eflpuenen 2,00,000
31.12.2015 sienawpw s7&dlmLy "40.000

gop B ()

50,000

60,000
10,000

S.No. 1642

13.

(a)

Mohan, retail merchant commenced business
with a capital of Rs. 12,000 on 1.1.2015.
Subsequently on 01.05.2015 he invested
further capital of Rs.5,000. During the year,
he has withdrawn Rs.2,000 for his personal
use. On 381.12.2015 his assets and liabilities
were as follows.

Assets and Liabilities Rs.
3,000

Cash at Bank

Debtors 4,000
Stock 16,000
Furniture 2,000
Creditors 5,000

Calculate the profit or loss made during the
year 2015.

01.01.2015 ey Cwrser eraubd  Seoenn
oQumumfl . 12,000 psguen  eflwmumgbd
Qem_rudlarn. Cuoaid Qgrirsslums 01.5.2015
e el ep. 5,000 sBe apgse Gumim.
ST Sl CEmHg LIWe&EsTS
em. 2,000 er(ggs&Qeramnm. 31.12.2015 sjemm
wHmd  Gurmlyser

Seurg  Qenggisser

GemeupLonm @ BHSS-

9 S.No. 1642
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(b)

i) ussssHD ApTLHE GoOmod QHHsT)
() B Wenr ukiens LLEWL EPAUWITES Ly
Qb Qurpg).
Or

P and R are partners sharing profits in the
ratio of 3:2 on June 30, 2016; their balance
sheet showed the following:

P’s capital — Rs. 40,000; R’ capital —
Rs. 30,000; Reserve — Rs. 20,000

‘P died on Ist October 2016. His heirs were
entitled to

(1)  His share of goodwill worth Rs. 40,000 ;

(1) Interest on capital of Rs. 20% p.a. The
firm has taken a joint life policy of
Rs. 50,000. P withdrew Rs. 30,000.
Show his capital account to ascertain
the amount payable to his heirs.

P wppw R e ineflser 3.2 g5 e
Qoruses’ udideamen. g9 30 2016
Bty euisag @muy Hena GOy
Slemeumiomy.

P- e magan - @ 40,000; R —en
Qx.cuﬁ:.c - @ 30,000 smuy - . 20,000.
<&CLmur 1 2016 S P’ srewen_dammi.
ey amfls  Qeamuapen  Qup
2 flevwureandpm

12 S.No. 1642

15.

(a)

(b)

(1) g
em. 40,000

ubdlHemen BOGUWT gy
(i) epeogand Sgrear il oamBaE 20%
SIpHYETD @ sl G Spuier STUSHS
frrgens m. 50,000 pE a5 mBes. P’
em. 30,000 ar(Msgierenni. P e eunflaé
GCer Ceauevrqw Qsrensaws sarsd
Coeneuwiman  (pogas samsamsd S

QLS.

State the rule laid down in Garner Vs

Murray rule.
gnient &Ml pGp  eupsdler  smplLLL

M perpsmer Qgfled.

Or

What do you understand by “Piecemeal
Distribution”? Explain the different methods
of making such distribution.

cukiseiuy udipgaigse” LD pedr yfipg
Qanan_g oaa? Sips Ui Qewicudler

o_arer LeGeumy (P MDESMET NeT&EGS.

13 S.No. 1642
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16.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Goods are sent to branch at 25% profit on cost.
Prepare the necessary accounts in the books of
Head office.
Rs.
Opening stock at cost to Branch 10,000
Goods sent to Branch at invoice price 40,000
Loss in transit at invoice price 5,000
Pilferage at invoice price 2,000
Normal loss at invoice price 1,000
Closing stock at cost to Branch 12,000
Sales 60,000
Expenses 8,000

Rs. 3,000 was recovered from insurance company
against loss in transit,.

SLssailoauier g 25% Qarun Csissg flenars (s
srédlear aGug). smaamwwssdler ehHsefle
Coemeuwiman HEGEDET & (.

.
Aevarflar oi_sael el Qgm_ss sradmuy 10,000 :
Grriy eleauiiah daarse oigitibiu EDETCS 40,000
Brmiy efleanude 2 drar aufl@en BLLID 5,000

14 . S.No. 1642

S S ——

IS ——————————————N ¢

|l 8

@ miy efleaufe o erer AmL® 2.000
@iy eflewauder srgnyen i 1,000
Samarullen oiL_sasalaneoufen Qpd #168miuy 12,000
eApuear 60,000
Qsvellamhaer 8,000

auflufenL BLL&SDE adlyns TSR
Bowsd B Ghg QupLuL L Asres . 3,000

From the mo:oéwum data, prepare departmental
Trading and profit and loss account for the rear
ended 31.12.12.

Dept. A(Rs) Dept. B (Rs)

Stock (January 1) 40,000 5
Purchases from outside 2,00,000 20,000
Wages 10,000 1,000
Transfer of goods from Dept. A - . 50,000
) Stock (Dec. 31) at cost 30,000 10,000
Sales to outsiders 2,00,000 71,000

B’s entire stock represents goods from Dept. A
which transfers them at 25% above its nowﬁ.m.
Administrative and selling expenses amounted to
Rs.15,000 which are to be m:oom:om. wm?‘mm.s
departments A and B in the radio of 4:1

respectively.

15 S.No. 1642
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1916161 (LD SEUDHMETE Qamar(h  SlemDeurilwimey

ewiruny wHML QeTu HLL& SETEES 31.12.2012 1

a1 (D@ SWTHESEeLD.

glenm A ((5.)  glewm B (em.)
sn65 (araufl 1) 40,000 -
Qeusfludier Qanarapsed GsisE) 2,00,000 20,000
sl 10,000 © 1,000
g ~A—9S M5 s7EG LIHHWD - 50,000
B 5756 (450Ut 31) iLbselles) 30,000 10,000
Qauafpuisasés spng) 2,00,000 71,000

geop B Wer s76@ pweugib gioom A WA mbBs <iLés
dewCur@® 25% &m@geors wrHOLD QewwiiulLg.
Bireurs LHMWL eApuemer Qsweysar Agrens . 15,000
geop A wppbd geop B &g 4:1. aap sy
vélipgefssliLB Hms).

18. Distinguish between single entry system and
double entry system.

eheop ufley wap wHML GrleL udley wpeppenws
CaupuBsis.

16 S.No. 1642

19.

Anand, Babu, and Sunder are sharing the profits

in the ratio of 3:2:1 respectively op 31.2.2016 and
Balance Sheet of the firm stood as follows:

Liabilities Rs. Assets Rs.
Sundry creditors 13,590 Cash 5,900
Capital : Debtors 8,000
Ananth 15,000 Stock 11,690
Babu 10,000 Buildings 23,000
Sundar 10,000
48,590 48,590

Babu retired on the above mentioned date.

(a)
(b)

(©

(d)

Buildings be appreciated by Rs. 7,000

Provisions for Bad debts be made at 5% on

debtors.
Goodwill account of Rs. 9,000 of the firm

created.

Rs. 5,000 be paid to Babu immediately and

the balance may be treated as loan.

Give necessary ledger accounts and show the

new balance sheet.

17 S.No. 1642
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Spamhs, UMy, &BST e  pei(Hid 3:2:1  eremm
AfsshHe 9INsg s Qenerdampent. 2016 ebui 31 b

Brevew @iy Hleaned GBlLY B%E@E:@.

Qurmliy&aer
upue sLaiBCHMT
P
BAHS
uimy

&HST

em.
13,590

15,000
10,000
10,000

48,590

Qenggi&een €.

Qpr&sw 5,900
sLemraflgar 8,000
sradlmuy 11,690
&g L LD 23,000

48,590

oy CuCa @MU L CaHuler allewdlemmr.

(=1) sligLw . 7,000 HHaflsgs Gouamr(Hibd

() pussLa @gI&&E0 sLametser Bg 5% o (heurss

Ceuarr(hLd

(@) poQuw er. 9,000 2 (heunss Geus(Hd

() em. 5,000
G BHeow eufler sLams Osmars.

Coeauwmer GUGIL(H& samsEsmar iaflsg)

UMLeYSE 2 L eig WIms

Hew @muy Hlaners GhlLiy euanys.

18

S.No. 1642

AECL::

e e

f e e oy ——

20.

m‘mmﬁ%m,ﬁmmm was balance sheet of A, Band C as o
Liabilities Rs. Assets Rs.

Creditors 12,000 Machinery 25,000
General reserve 3,000 Stock 11,000
Capital : Debtors 9,500

A 20,000 Goodwill 13,000

B 15,000 Cash 1,500

C 10,000

60,000 60,000

On the above date the firm was dissolved. The
assets realized Rs. 50,000. The creditors were
settled Rs. 11,500. Dissolution expenses amounted
to Rs. 1,000. The partners had 3 : 2 : 1 as their
profit sharing ratio. Give the necessary journal
entries and ledger accounts.

2016 ebur 31 ey AB,C - e @muy Henawé
GOl ereu(mommy 2 6Targ.

Qummiyser . Qeng g)&sem .
sLapGsnr 12,000 epdon 25,000
Qumgssmuy 3,000 eayadlmuy 11,000
Ws® : sLemaflger 9,500
A 20,000 araflupp@uui 13,000
B 15,000 Qprésn 1,500
C 10,000 |

60,000 60,000

19 S.No. 1642
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10.

11.

mﬁmﬁm. any two advantages of functional 12.
organisation.
Qeweum_ Sl er gCaanibd @) yev (b

IBETENLD&ENET S M.

What is meant by delegation?
guueL ey upHl <iBleug) erenen?

Define directing.
.@Ewm%mwgg U TWMI&E.

Define motivation.

2a& G 5560 CUEDTLMISS. 13.

What is meant by horizontal co-ordination?
uG Sl wner gmidamariy updl oidleus ereman?

What do you mean by controlling?
sLOUu®sgse unm BellT ifleug) ereman?

PART B — (6 x 5 =25 marks) 14.

Answer ALL questions.

(a) What are the importance of management?

Cuereamenwullen (p&ELS S euUBIGET WTepeu?

Or
(b) Write in brief about scientific management.

&l gpiepman Goomeameno LMD &(HESLOTE 6T (L)),

2 S.No. 1643

(a)

(b)

(a)

(b)

(a)

(b)

Discuss the various
managerial planning.

steps involved 1in

Cuaramenn  AlLf@sdlar o mduyerer
ueGeum LigHlaresamer eSleundés.

Or
Briefly explain the various types of

managerial decisions.

Cuoemewrenin iy deu@ssedlen
UM EEENGT H(HESLONE cleTd G .

v Caumy

What are the benefits of line organisation?

auflens enLIY 6T LIWETSET Wmeneu?

Or
What is decentralisation? State its merits.

UJEUETESHID  GTETMTEY  GTETe?

TBETTEN LD SENET FoL M) &.

Briefly explain the various elements of
directing.

Qus@eigseilar uLCeUm SmMS®ET &F(HESLDTE
clerdGs.
Or

Describe the Maslow’s theory of motivation
in detail.

wrevGorelen cas@alssn Gspnseans eflflauns
clers &8

3 S.No. 1643
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(For the candidates admitted from 2017-2018 onwards)
B.A./B.Sc.,/B.Com./B.B.A. DEGREE EXAMINATION,

APRIL/MAY 2018
Second Semester

Foundation — Telugu

CLASSICAL AND CONTEMPORARY POETRY

Time : Three hours

{
Maximum : 75 marks

} SECTION A — (10 x 2 = 20 marks)
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10.

II.

11.

12.

13.

S8 FroraETTose B9 IO BOJ0G.

KoX BIPBOD By %oB0dE 3D TR
9580H06.

20808 J5¥ereR) BoSes.

RBse erermsd) D980B0&.

RBS SRuHe Sergo SSBES® I ew59065° G087
Sdoorer ABERD BIRD d&0.

SECTION B — (5 x 5 = 25 marks)

808 T3S° e@owoBo8E 150 ST JArgrRren
oro0G.

56e5° gD T, 5555 KAGS.

SrBOSRTRYS HOSS 38

=

5

-3

®igs

14.

15.

16.

17.

18.
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S.No. 706

._(F or the candidates admitted fro
/M.Com.(CA) DEGREE EXAMINATION,

-M.Com

Time : Three hours

1 (a)
(b)

2. (a)

- (b)

)
(5)
17PCM01/
17PCZ01

m 20172018 onwards)

NOVEMBER 2018.
First Semester

MARKETING MANAGEMENT

. Maximum : 75 marks
SECTIQN A— (5 x §_= 25 marks)

Answer ALL questions.
State the scope of marketing management.

|Or

Draw the organization structure of

marketing.

Write a short note on product development.
Or

List out the various kinds of pricing.
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(a)

(b)
(@)

(b)
(a)

(b)

(a)

(b)

(a)

®)

Describe the ch istributi
escri & o. annels of distribution. 8. (a)

£
RS

1.
State the advantages of middle man.

What are n_,_i objectives of sales EoBoﬁoﬁm ®)
Or (a)

List out ualities of a good salesman.
18 2 advertising from publicity. , (b)
R o . BT T

A. fits of advertising agency.
— (5 10 =50 marks) ®)

Answer BLI questions.

Explain
management.

Discuss the
management.

i3

influencing pricing

S.No. 706

b
¥

Discuss the factors influencing selection of a
channel.

ons of middle man.

ance of sales promotion.

Discuss essentials m salesmanship.

Describe the m:b&f of advertising.’

> %

Or

Write a .mma ailed ﬁoﬁ on ovmmnaosm against
mm<ﬂ—.ﬁmmﬂo¢ﬁw DYy

ES)

PPV i
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S.No.

707

17PCM02/
17PCZ02

Qou the nmb&mmamm admitted from 2017-2018 obémummv

M. OeE /M.Com. (CA) DEGREE HEHZ.PHHOZ
ZOégwmw 2018.

First Semester

>ooocz§zo FOR MANAGERIAL DECISION

- Time : Three gﬁ.m

&

(b

)

..v..

HSNEE:B 75 marks

PART A — a x5 Mmmw marks)

Explain the

accounting.

Discuss the advantages of &«

accounting.

Or

5 A

anagement
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(a)

Sales returns

Ramya Ltd. sells goods on cash as well as on
credit basis. The following E».on_ ation is
extracted from their books of &

3. (a) Calenlate funds from operation from the

for e
2018, , following :
Profit and Loss Account
Total sales Particulars Rs. Particulars Rs.
Cash sales (included in the above) : B
To Administration R By Gross profit 2,15,000

Total debtors for sales as on 31-12-2013 w ooo ik,

00

expenses

To Selling expenses 16,000 By Hnn‘ﬁ-a on

Bills receivables as on 31-12-2013 2,000
Provision for doubtful debts : 1,000 investments 5,000
Trade creditors as on 31-12-2013 . 10,000

(b)

To Depreciation 26,000 wwgn on sale

You are required to calculate

(i) Debtors/Receivables turnover ratio, —_— . 4,000
(i) The average collection period. S, [ 055 on sale of

Or .
From the following information : 0. o Goodwill written
Cash 18,000 k.
Debtors . 1,42,000 ke Discount on issue
Closing stock _ 1,80,000 " of debentures
Bills payable 27,000 To Net profit
Creditors 50,000
Outstanding expenses 15,000 2,24,000
Tax payable 75,000 ,
Calculate (i) Current ratio, (ii) Liquidity
ratio, (iii) Absolute liquidity ratio. .

2 S.Ne. 707 8.No. 707
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() From the following Trading and Profit and

(a) Malar Ltd. sells two products A and w ¢.<Eor
are produced in its special products division.

Loss Account of Selvin Ltd., you are required
to ascertain cash from operations.

Trading and Profit and Loss Account as on 31-3-2009

Sales for the year 2009 were planned as

follows.

Particulars 1°t Quarter 2~ Quarter 3rd Quarter 4th Quarter
15,000

13,000
4,000

12,000
4,500

10,000
5,000

Product A

Product B 3,800

Particulars Rs. Particulars Rs.
To Cost of goods sold  2,40,000 By Sales 4,00,000
To Gross profit ¢/d 1,60,000
4,00,000 4,00,000
To Stationery 6,000 By Gross 1,60,000
profit b/d
To Depreciation 14,000
To Salaries 20,000
To Loss on sale of 2,000
investments
To Rent and Taxes 8,000
To Discount on issue 4,000
of debentures
To Postage 3,000
To Provision for tax 20,000
To Proposed dividend 10,000
To Net profit 73,000
1,60,000 1,60,000
4 S.No. 707

The selling prices were Rs. 20 per unit and
Rs. 50 per unit respectively for A and B.
Average sales returns are 5% of sales and
the discount and bad debts amount to 4% of
the total sales.

Prepare the sales

’ t for the year 2009.
-

ﬁ& Or
(b) Draw up a flexible budget for production at

75% and 100% capacity om the basis of the
following data for a 50% activi

Per unit .
Rs.

Materials 100
Labour 50
Variable expenses ect 10
Administrative expenses (0% Fixed) ] 40,000
Selling and distribution expenses (60% fixed) 50,000
Present production (50% activity) ¥ ,waoo Units

£
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(8) A manufacturing concern which has adopteq

mnmbnmaoom&bm?wamwmmevm follow;j
. w
information. e

mnmbam.a : Materials for 70 kgs of finisheq
product : 100 kgs.

Price of materials Re. 1 per kg.
Actual: Output 2,10,000 kg

3
Material used 2,

Cost of materials Rs. w.mw.ooc%m,
Calculate .u _
(1) Material price variance, %
(1) Material usage variance,

(1)) Material cost variance.

Or

(b) From the following data, Calculate labour
variances for the two departments.
Dept. A © Dept.B"

Actual direct wages Rs. 80,000 Rs. 72,000

Standard hours produced 10,000 8,000
Standard rate per hour Rs. 8 Rs. 10
Actual hours worked 12,000 7,000
6 S.No. 707
&

|

—

&

-,

6.

7.

(a)

(b)

(a)

PART B — (6 x 10 = 50 marks)
Answer ALL questions.
All questions carry equal marks.

Distinguish between management
accounting and cost accounting.

Or
Explain the functions and duties of a
management accountant.

g the @Eoiwbn information make out a
statement of proprietors funds with as many

details as possible.
Current ratio 2.5
Liquidity ratio 1.5
Proprietary ratio 0.75 .
(fixed assets/proprietary mﬁﬁw
sou._nmbm omm..:.\mu Rs. 60,000
Reserves and surplus Rs. 40,000
Bank overdraft Rs. 10,000

There is no long term loan or fictitious asset.

Or

w\.m-zo. 707
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3062007 3062008  Assets 3062007 30.6.2008

() From the following information, you are Liabilities
required to prepare Balance sheet : R . Re Rs.
Current ratio 1.75 P&Lak 39000 24000 Machinery 74000 72000
Liquid ratio 1.25 3 Trade creditors 16,000 10,800 Investments 20,000 22,000
Stock turnover ratio 9 - Bank overdraft 12,400 2600 Inventories 60,000 50,800
i Provision for Debtors 40,000 44,400
(Cost of sales/Closing stock) | ’ e sze00 das 000 ‘
Gross profit ratio 25% w Provision for Cash 13,200  30,40Q
. ) doubtful debts 3,800 4,200
Debt collection period 1.5 months p,.,f
3,11,200 3,11,600 311,200 3,11,600
Reserves and surplus to capital 0.2 “
Fixed assets turnover (on cost of sales) 1.2 Additional information :
. . . Depreciation charged on machinery
Capital gearing ratio (long term 0.6 @ P
P B (long Rs. 10,000 and on buildings Rs. 8,000.
har 1 p
debt tp share capital) ! (i) Investments sold during the year
Fixed assets to net worth 1.25 Rs. 3,000.
Sales for the year Rs. 12,00,000 . @) Rs. 15,000 interim dividend paid
) ; during January 2008.
8. (a) The following is the comparative balance * £ . . .
sheets of Ramya & Co. Ltd. as on 30* June = W (iv) Taxes paid during the year Rs. 30,000.
2007 and 30t June 2008. Prepare
Balance Sheet. : (1) a statement of changes in
Liabilities 30.6.2007 30.6.2008  Assets  30.6.2007 30.6.2008 working capital and
Re. Rs. Rs. Rs.- (2) afundsflow statement.
Share capital 1,80,000 2,00,000 Goodwill 24,000 20,000 o
Reserve fund 28,000 36,000 Buildings 80,000 72,000 r
9 S.No. 707

IS S.No. 707
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e e
(b)

Liabilities

Equity share

capital

8% Redeemable
preference share

capital

From the following balance sheet of
Renga Ltd., make out the statement of cash
flow.
Balance sheets.
1989 1990 Assets 1989 1990
Rs. Rs. Rs. Rs.
3,00,000 4,00,000 Goodwill 1,15,000 90,000
Land and
buildings  2,00,000 1,70,000

General reserve

P& LA/

Proposed
dividend
Creditors

Bills payable

Provision for

taxation

1,60,000 1,00,000

40,000 70,000 Plant 80,000 2,00,000
30,000 48,000 Debtors 1,60,000 2,00,000
42,000 50,000 Stock 77,000 1,09,000
55,000 83,000 Bills
receivable 20,000 30,000
20,000 16,000 Cashin ’
hand 15,000 10,000
Cash at : .
40,000 50,000 bank 10,000 8,000
6,77,000 8,17,000 6,77,000 8,17,000

Additional Information :

(i) Depreciation of Rs. 10,000 and
Rs. 20,000 have been charged on plant
account and land and buildings account
respectively in 1990.

(i) An interim dividend of Rs. 20,000 had
been paid in 1990.

(iii) Income tax Rs. 35,000 was paid during

the year 1990.
10 | S.No. 707

Variable overheads

¢ for overheads on
data. Ascertain
0% and 70%

Prepare a flexible budge
the basis of the following
overhead rates at 50%,

capacity. .
pacily At 60% capacity

Rs.
Indirect material 6,000
Indirect labour 18,000
Semi-variable overheads
Electricity (40% fixed 60% variable) 30,000
Repairs (80% fixed 20% variable) 3,000
Fixed overheads :
Depreciation 16,500
Insurance 4,500
Salaries 15,000
93,000
Estimated direct labour hours 1,86,000
Or
?v Ishwarya Engg. Co. manufactures two

Months
- January
February
March

-products “P” and “R”. An estimate of the

number of units expected to be sold in the
first seven months of 2008 is given below.

Production “P” (Units) Production “R” (Units)

1,400 500
1,400 600
1,200 800

11 S.No. 707
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Months  Production “P* (Units) Production “R” (Units)

Apnl 1,000 1,000
May 800 1,200
June 800 1,200
July 900 1,000

It 1s anticipated that

(@) There will be no work-in-progress at
the end of any month.

(i) Number of units equal to half the
anticipated sales for the next month

will be in stock at the end of each
month (including December 2008).

The budgeted production and production cost

for the 2008 are as follows.
Production =~ Production
thn ——wnw

Production (Units) 12,000 11,000
Direct material cost - 20 15
per umt (Rs.) :
Direct wages per unit (Rs.) 10 8
Other manufacturing
charges apportionable to’
each type of product for the 48,000 33,000
year

12 S.No. 707

10. (a)

Material

You are required to prepare :

(1) A production budget showing the
number of units to be manufactured

each month; and

(2) A summarised production cost budget
for six months period — January to

June 2009.
From the following information of product
No. 999, Calculate

@ Material cost variance

‘(i) Material price variance

(iii) Material usage variance
(iv) Material mix variance

(v) Material sub-usage variance

Standard Standard Aectual Actual
Qty Kgs Price Qty Kgs Price

Rs.) Rs.)
20 5 24 4.00
16 4 14 4.50
12 3 10 3.25
48 48

Or

13 S.No. 707
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(b)

From the mOEOS:..Dm. data, calculate labour
variances.

Budgeted labour for completing job X

8 Skilled workers at Rs. 10 per hour for
20 hours.

12 Unskilled workers at Rs.8 per hour for
20 hours.

Actual labour for completing job X

12 Skilled workers at Rs. 11 per hour for
20 hours.

13 Unskilled workers at Rs, 7 per hour for
20 hours.

-s'?;.‘

“*:“‘a»-
: .

14 S.No. 707 |
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(B pages)
S.No. 708

(For the candidates admitted from 2017-18 onwards)

M.Com./M.Com. (C.A.) DEGREE EXAMINATION,

Time : Three hours Maximum : 75 mar

N

(a)

markets.

(b)

(a)

T

I
17PCMO03/
17PCZ03

NOVEMBER 2018
First Semester
Computer Application
FINANCIAL MANAGEMENT

PART A — (56 x 5 = 25 marks)
Answer ALL questions.
All questions carry equal marks. :
Explain briefly the two key financi 5

Or
Briefly discuss the functions of the new issue
market. 3
A mining company’s iron ore reserves ang
being depleted, and its costs of recovering &
dechining quantity or iron ore are rising eacl
year. As a equal to it, the company’s earnings
and dividends are declining, at a rate of 8%
per year. If the previous year's dividend (De
was Rs. 10 and the required rate of return i
15%, what would be the current price of th
equity share of the company? . 3

Or

(b) A firm is considering an expenditure of Rs.60

lakhs for expanding its operations. The
relevant information is as follows.

No of existing equity shares = 10 lakhs
Net earnings = Rs.90 lakhs
Market value of existing share = Rs.60

Compute the cost of existing equity share
capital and of new equity capital assuming
that new shares will be issued at a price of
Rs.52 per share and the costs of new issue
will be Rs.2 per share.

From the following selected operating: d
determine the breakeven sales level and the
degree of operating leverage. Which company
has the greater amount of business risk?

Explain.

Particulars Firm A Firm A
Rs. Rs.

Sales 25,00,000 30,00,000

Fixed cost 7,560,000 15,00,000

Variable expenses as a percentage of sales for
firm A is 50% and for firm B is 25%.

Or
3

Explain the term “Point of indifference”. Give
the formula. -; 4

2 S.No. 708

‘ Y
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4.

(a)

(b)

(a)

A company’s equity shares are being traded
in the market at Rs.48 per are with a price
earning ratio of 8. It has 1,00,000 equity
shares of Rs.10 each and no preference
shares. Book value per share is Rs.40.
Calculate (1) Earnings per share, (ii) Net

Income, (iii) Dividend Yield and (iv) Return

on equity.
Or

Ramya Company earns Rs.5 per share, is
capitalized at a rate of 10% and has a rate of
return on investment of 18%. According to

Walter’s formulae, what should be the price

per share at 25% dividend payout ratio?
this the optimum payout ratio accordi
Walter? If not, what will be the om
payout ratio and the price of share % this

payout?

How to determine the age of the receivable o

the duration of collection period?

(b) From the following particulars, Calculate
(1) Re-Order Level,
(i) Minimum Level,
(iii)) Maximum Level

Normal Usage 100 Units per day

Minimum Usage 60 Units per day

Maximum Usage 130 Units per day

Economic order quantity | 5,000 Units

Re-Order periods 25 to 30 days.

PART B — (5 x 10 = 50 marks)
Answer ALL questions.
All questions carry equal marks.
(a) Explain the main functions of financial

management.
Or
(b) “Profit maximization and wealth
- maximization objective are complem itary to
~ each other” — Do you agree. Give reagons .

On January 5, 2016, the total mmmoﬁmM .
Modern Company were Rs.100 Crores. By arm
end of the year total assets of the company

are mquonmm to be Rs.150 crores. The
low, is

4 . S.No. 708
[P.T.0]

y

B T
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(b)

New bonds will have an 8% interest rate
and will be sold at par. Preference share
will have a 9% rate and will be sold at 5%
discount. Common stock currently selling
at Rs.50 a share can be sold to net the
company Rs.45 a share. Stockholders’
required rate of return is estimated to be
12%. Retained earnings are estimated to
be Rs.5 crores The marginal corporate
tax rate is 50%. The stockholders have

the average marginal tax rate of 25%.

Calculate the weighted cost of capital.
Or

A textile company is considering two
mutually exclusive investment proposals
for its expansion programme. Proposal A
requires an initial investment of
Rs.7,50,000 and yearly operating costs of
Rs.50,000. Proposal B requires an initial
investment of Rs.5,00,000 and yearly
operating costs of Rs. 1,00,000. The life of
the equipment wused in both the
investment proposals will be 12 years
with no salvage value; depreciation is on
straight line basis for tax purposes. The
anticipated increase In revenues IS
Rs.1,560,000 per year in both the
investment proposals. The tax rate is 35
percent and cost of capital 156 percent.
Which investment proposals should be
undertaken by the company.

5 S.No. 708

.

¥

(@) Explain fully Walter's formulation on
dividend policy. How far does it explain the
dividend practices of companies?

Or
(b) The capital of Santhosh Ltd. 1s as follows.
Rs.
9% Preference shares of Rs.10 each  3,00,000
Equity shares of Rs.10 each 8,00,000
11,00,000

(a)

Additional information

Profit (after tax @ 35%) — Rs.2,70,000
Depreciation — Rs.60,000

Equity dividend paid — 20%, Market price of
equity share Rs.40 Compute the following

(1) Dividend yield on equity shares.

(11) Earnings per share.

(ii1) Price—Earning ratio.

The Agro-Chemicals Company belongs to a
risk class for which the appropriate
capitalisation rate is 10%. It currently has

1,00,000 shares selling at.Rs. 100 each. The -

firm is contemplating the declaration of Rs.5
as dividend at the end of the current financial
year, which has just begun. What will be the
price of the share at the end of the year, if a
dividend is not declared? What will it be if
one 1s? answer these on the basis of
Modigliani and Miller Model and assume no

taxes.
Or

6 « S.No. 708
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10.

(b) Anand Corporation Ltd belongs to a risk class

of which the appropriate capitalisatibn rate is :

10%. It currently has 1,00,000 shares quoting
Rs. 100 each. The company purposes to
declare of dividend of Rs.6 per share at the
end of the current fiscal year which had just
begun.

Answer the following question based
Modigliani and Miller Model and assumption
of no taxes.

(1) What will be the price of the shares at ':‘

end of the year if dividend is not
declared?

(11) What will be the price if d1v1dend is
declared?

(i11) Assuming that -the company pays
dividends, has a net income of Rs.10
lakhs and plans new investment of Rs.20
lakhs during the period, how many new
shares must be issued?

(iv) Is the MM Model realistic? What factors
might mar its validity.

(@) Explain the various cash management
models. :

Or

(b) Muthu wishes to commence a new trading
business and gives the following informat

(1) Total estimated sales
Rs.6,00,000

per a

ol
oA
i
;E
o
L 3

(i) His fixed expenses are estimated at

Rs.1,000 per month and variable
expenses equal to 5% of his turnover,

(iii) He expects to fix a sale price for each
product which will be 25% in excess of
his cost of purchase

(iv) He expects to turnover his stock 4 times
in a year.

(v) The sales and purchases will be evenly
spread throughout the year.

All sales will be for each but he expects
one month’s credit for purchases

Calculate

(1) His esti‘fnated profit for the year.

|
(2) His average working capital
requirements. 4
3 -
8 - S.No. 708
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S.No. 710 17PCMEO01/

17PCZE01
(For the candidates admitted from 2017-2018 onwards)

M.Com./ M.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2018.

First Semester

Elective - ORGANISATIONAL BEHAVIOUR

Time : Three hours | Maximum : 75 marks
PART A — (6 x 5 = 25 marks)
- Answer ALL questions.
1. (a) Explain the importance of organisation.
Or
(b) State the nature of organizational behaviour.

2 (a) What are the models of organizational
behaviour?

Or

(b) Differentiate from the Positive and Negative
individual behavior.

Scanned by CamScanner



(a)

()
(a)

®)
(a)

(b)

(a)

®)

(@)

®)

Describe the Freudian approach to
personality.

Or

Explain the personality theories.

Write a note on nature of communication.
Or

Describe the Elements of communication.

Define the external factors influencing
organisational change.

Or

What are the characteristics of

organisational cultures?
PART B — (5 x 10 = 50 marks)
Answer ALL questions.
Explain the theories of organisation.
Or

Differentiate from the formal organisation
and informal organisation.

Discuss the u%ta.nt theories on learning.
Or
What are the ]

ristics of learning?

2 S.No. 710

(@)

(®)
(@)

(b)

(a)

®)

Explain the psychoanalytical theory of
personality.

Or

How are attitudes measured?
State the importance of communication.

Or
liarn'ers to

Explain  the effective

communication.
Explain the causes ; resistance to changes.

Or

Explain the different lf,ypesrof organisational
culture.

3 9 S.No. 710
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S.No. 821 12PCMO05

Rs.

Wages accrued due 8,000 ; (For the candidates admitted from 2012 — 2013 onwards)
Work certified 4,00,000 M.Com. DEGREE EXAMINATION, APRIL/MAY 2018.
Work completed but not certified 12,000 : Second Semester
Cash received 3,00,000 : ADVANCED COST ACCOUNTING
Materials transferred to other 8,000 ' Time : Three hours Maximum : 75 marks
contracts

. SECTION A — (5 x 5 = 25 marks)
Materials received from other 2,000
contracts

Answer ALL the questions.

Depreciation on plant is to be provided at 1. (a) Discuss the characteristics of an ideal
10% per annum.

Costing System?
The contract was for Rs. 8,00,000.

A; Or
Prepare the Contract account for 2017. Also | (b) Prepare a Cost Sheet form the following:
show what part of the profit on the contract g . )
should be taken to the profit and loss account | Direct Materials Rs. 50,000
f 20177 .»
° ‘j' Direct Wages Rs. 15,000
‘ Factory Expenses Rs. 5,000
1 Office Expenses Rs. 1,000
i Selling Expenses Rs. 500
12 S.No. 821 i
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(a) Calculate the Economic Order Quantity from 3. (a)
the following information. Also state the
number of orders to be placed in a year.

From the following data given by the
Personnel Department, calculated Labour
1 Turnover rate by applying:

Consumption of materials per annum : (1) Separation Method
10,000 5. (ii) Replacement Method
Order Placing Costs per order : Rs. 50 : (iii) Flux Method
Cost per Kg. of raw materials : Rs. 2 W _ No. of workers on the Pavroll
Storage costs 8% on average in inventory At the beginning of the month : 900,
Or | At the end of the month: 1,100 and

: . : . . . 150 workers are recruited.
(b) The following information is available in

respect of component D 20: Of these, 25 workers are recruited in

. the vacancies of those leaving, while
: ) 45 . , wh
@ Maximum Stock lovel 42,000 units the rest were engaged for an expansion
(11) Budgeted Consumption : scheme.

Maximum7,500 units per month Or

Mini 4,000 units per month . .
ER per mo (b) From the following particulars calculate the

(i) Estimated deliver period : earnings of A and B under Halsey Plan and
Maximum 4 months Rowan Plan.
Minimum 2 months. Standard Time = 10 Hours
You are required to calculate ”. Time Rate = Re. 1 per Hour
(1) Re-Order Level and | | Time Taken = 9 Hours by A;
(2) Re-Order Quantity. _ 8 Hours by B
2 S.No. 821 3 S.No. 821
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(a)

From the following particulars ascertain the
amount of profit shown in Profit & Loss Alc

by preparing necessary reconciliation

Statement.

(i) Profit shown as per cost books
Rs. 1,40,000

(1) Depreciation shown excess in cost

books Rs. 2,000

(111) Interest on investment received
Rs. 1,000

(iv) Provision made for income tax

Rs. 40,000

(v) Income received for share transfer
Rs. 150

(vi) Factory Overhead under recovered in
cost books Rs. 3,000

(vii) Office Expense under recorded in

Financial Books Rs. 1,000

Or
4 S.No. 821

o

(b)

(a)

(b)

From the following particulars Compute the
machine hour Rate.

Cost of Machine Rs. 11,000
Scrap Value Rs. 680

Repairs for the effective working Life

Rs. 1,500

Standing charges for 4 weekly period Rs. 40
Effective working life 10,000 Hours

Power used - 6 Units per Hour at

5 Paise per Unit
120 Hours
Explain the Features of Process Costing.

Or

Amudha & Co. produces a product through
two processes “X” and “Y”. The following

details pertaining to process “X” for March
2016 are available:

Hours worked in weekly period :

Inputs: Material (500 Units) Rs. 20,000
Labour Rs. 16,000
Indirect expenses Rs. 14,000

Normal loss in the process is estimated at 5%
of the input which possesses a scrap value of
Rs.62 per unit. Prepare Process “X” Account.

5 S.No. 821
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